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S CAEN B SN “root” s 3B - Az &g
aX*+bX +c=02_49 o

#2 :

1. 3# » = Bi¢eb#c (float) > a, b,C . o (8 * printf, scanf Jfﬂ ) e
2. ¥ b’—dac<0 . plerdt “gP &R -

b ++/b? —4ac
2a

s zals 417 3138 rootpy X101

—b—+/b? —4ac

X[= s %2 mainO% > & it X[0]4e X[1]

4 %}. Fy ‘&\;—v ﬁ?. ? 4'3' Jl ’T fls"')i
#include <stdio.h>
#include <stdlib.h>

#include <math.h>

void root(float a, float b, float ¢, float X[]);

void main(){
float a, float b, float c, float X[2]={0};



root(a, b, ¢, X)

}
void root(float a, float b, float c, float X[])

{
test = sqrt(b*b — 4*a*c)



